IB Chemistry Test                      Unit – Organic Chemistry                Name:

Stoichiometry, Addition

1. A hydrocarbon contains 48g of carbon per mole and has a relative molecular mass of 56 g mol-1.

(a) What is its molecular formula

(b) The hydrocarbon described above can exist in four different arrangements .Draw their structures

(c) Propene reacts with bromine . Give an equation, name it and propose a mechanism for the reaction

(d) Two different compounds exist with the formula, C3H7Br. Draw the structure for each compound and name it.

Benzene

2. (a) Discuss the structure of this compound in the following way:

I. Sketch the molecule

II. Compare the carbon-carbon bond lengths in this compound with one another and with those in C2H6 and C2H4 .

III. Comment on the bond angles expected for the C-C-H bonds in C6H6, C2H6 and C2H4
(b) Name the type of reaction that occurs between benzene and chlorine, write it and name all compounds.

(c) Explain why benzene undergoes that kind of reaction.

Combustion

3. (a)Write the reaction of combustion of  heptene.

(b) What mass of  H2O is produced when  5 moles of  heptene reacts?

Functional Groups and Isomerism

4. The compound             

Contains functional groups characteristic of

a. alkanones, amines, alcohols                    b. acids,amides,ethers

c. alkanals, amines, alcohols                        d. alkanals, amides, alkanones

5. How many hydrogen atoms are there in a molecule of 2,2 dimethylhexane?

a) 12

b) 14

c) 16

d) 18

6. Which one of the following substances is optically active?  Draw each one and explain by the drawing.

I. tetrachloromethane

II. methylamine

III. 2-butene

IV. 2 bromobutane

7. Which represents a propyl free radical?

a) C3H7+1
b) C3H7(
c) C3H7-1
d) C3H6
The primary product resulting from the addition of HCl to (CH3)2C=CHCH3 is

A. (CH3)2CHCH2CH3              C. 

